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1. r rl-Yxdzdydx=(a) 1 (b) _1 (c) _1 (d) 12 

Jo x Jo 	 16 10 12 6 

x2. * r'" e- cosxdx , (:E;!t{lt¥if). (a) 1 (b) 1 (c) 1 (d) 1. 
Jo 2 3 4 5 

if;!
3. lim-' = (a) 1 (b) 0 (c) -1 (d) 00 

"""00 n 

5. *lim(cot xrnx = (a)O (b) 1 (c) 00 (d) ~~ft 
x .....o 

6. T9UfoJ1t~ y =J x ~~8'g5Eft~?
2-x 

(a) ~ x S 0 

(b) -2 ~ x < 2 

(c) 2 ~ x 

(d) 0 ~ x < 2 

7. E!E~~y sin1.if1&rEl~O<x<It:p~~@f~*{I? (a) 1 (b) 2 (c) o(d) 00 
x 

8. 	 **&~fD :t311~411 = (a) .!2(b) !2 (c) 17 (d) 19 
11=0 5 2 2 2 2 

r1 1 	 7r 1 
9. Find J, ~ dx = (a) 7r (b) -2 (c) -2 (d) 1 

0(2 x) 1- x 

10. a1 >0, all =.!.(all+~J, k>l. J=l.1j lim all = (a) Jk +
1 

(b) J k (c)+i 
k an 	 k -1 k-l,1->00 

J 	 Jk + I (d) k - 1 

k k+l 


x a 

1. 	 (10%»J(lim X - a = 
,'''''0 aX _ x" 

mailto:sin1.if1&rEl~O<x<It:p~~@f~*{I
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